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23) Fig-06 shows the decay process of a radioactive element, where the x-axis represents
nis the number ol remaining parent isotopes.

the elapsed time in years :

Depending on this figure, the numbe

parent iSOtOPEs is

a. One halftime.
b. Six halftimes.
/c. Three halftimes.
d. Four halftimes.

ynd y-axis represe
r of halftimes (T1) required
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a. ()

b. 45

. 90
| d. 180

|
| 27) By definition, the frequencies of ultrasound waves arc
a. Below 20000 Hz

b. Below 10000 Hz
¢. Between 10000 and 15000 Hz

d. Above 20000 Hz

28)  An object is placed in front of a convex lens, its image will be

d. Cannot be specified unless knowing the object’s distance,
b. Real, reduced and inverted.

¢. Real, enlarged and inverted.

d. Virtual, enlarged and erected.
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3.185 x 107 'm/s

b. 8x 10 "m/s

C.

2x10%m/s
d. 6.369 ¥ 10~ 'm/s

Snell’s Law describes

a. The velocity of pulse in myelinated axon is higher than that of the unmylinated one

a. Reflection.
b. Refraction.
¢. Absorption.
d. Diffraction.

by about 200 times.
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1. then the blood 1

What is the maximum velocity o

36)  One of the advantages of myelinated nerves over unmyelinated nerves is

b. The resistz_mcﬁ of myelinated nerves is smaller than unmyelinated one.
¢. The capacitance of myelinated nerves is larger than unmyelinated one.
d. The space parameter of myelinated nerves is smaller than unmyelinated one.
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18) Isotopes are atoms, of the same element. that are

| a. Equal in mass number but different in atomic number
b. Equal in atomic and mass numbers.

f ¢. Different in atomic and mass numbers.

d. Egqual in atomic number but different in mass number

19) Chromatic aberration (See fig —4) can be
canceled using - "y

a. Two lenses, one is convex and the other is

concave.
b. Two lenses, one is convex and the other 15

concave with one of its two sides is flat. i
¢. Two convex lenses. —
d. Two concave lenses.




LIg e bove mlaasin o

O L Y
h, lbem
¢ l6oem

|' l".:'!l."'l.i|'-.
{ Wavelength

l.| F"._'r;“{j

| ;I '. \\ltﬁlkitl]if!;_' |;” E"-"]:'I: al .I:.I!.II_._

diopters then his nearest point 1s

on a mechanical Vel

4) A .j.""‘“.\' force 1S L‘_\a.’t'[e.‘d

advantage IS




11

from a rad

b.

d.

13)

An instrument which prod

ioactive gpbstance
SO
Endoscope

sl il Nl

Frequency
1"-'"1.‘]{11._'-[{}_
Wavelength.
Period.

Considering far point a

|..-!_‘|:_.'- il

uces 1

‘ ey 15
yected mio the od

{ infinity, if the power of

diopters then his nearest point 1s

a
b.

3

d.

14)

0.25m
0.5m
0.20m
lm

A 250N force is exert

advantage is

0.5
1

250

edona mechanical leve

:L-._'cun'.:umlulinn foran

r to lift a S0ON box. Th

yan is 2

= mechauiual




Siudlent 1k

Code B
37) The cente : PHYS]121 Final-Term EXam
¢ center of gravity of a fish during gwimming 18
a ixed 1o a certain point
b. Located near its L.|I||
& Located outside its body

i b
d. Changing continuonusly
e from

; s ey resuliin
sansed by the change in wave {requUeERsy == :

3 ) | he phenomenon, which
notion of the source or observer, 15 called

f‘-'l*!‘]"',“l' Flow Meter

r" |-"'-‘["|‘i'-'|' | I-I!:\L'L-.I.
c. Wave Shifi.
d. Motion Effect
restine state, there ar
axon but difterent outside 1.
also outside it.

ve tons inside the
tve and —ve ions inside the axon and

Fyve and —ve 1008 outside the axon but different inside it.
of +ve and —ve ions inside the axon and also outside it

Equal concent: ations of +ve and
b. Equal concentralions of
¢. Equal concentrations of
d. Different concentrations

A solid bar is hanged by two cords
T

If this horizontal bar is in
translational equilibrium (No motion) and its
weight is W=60N. Then the tension force in one D\

cord 1s
" W :
i Fig

40)
(see fig— 10).

a’ 60N
b. 30N
c. I5N
d 120N
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"\-- = I l
/ &3 The missing cle

ment from the followmg equation 1s

[ a. *28Ra
I: b, *Pu
c. *3iPa
234Th
[
6) Which of the following media has the fastest sound 1

a. Water in a pool
| b. , Wood in a desk

Steel in a bridec

7) The name for part of the eye labeled "C" in the hig

a. Comea D
& Natural Lens. 1 c
¢. Ims. :Ju - 5
d. Pupil
C -

Fig

8) For a pipe of length 17.5cm which is open at one end and close at the other end, the first

gvertone is

1466 Hz.
b 489 Hz.

2443 Hz.
. 3420 Hz.

®

.

e e

9) The Na-K pump is a process responsible for

a Balancing Na™ and K ions concentrations inside the axon.

b, Compensating of any shortage of Na" and K' ions concentrations.
c. Ralancing Na' and K ions concentrations outside the axon. ey
d. Tlagestablishment of the ion concentration imbalance and resting potential diffe
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